TR 224 FESTRER

H24.5.16 £ K

X544 RF RF RF RTF RTF

oK = L Rivi E T 200m HENARFH | HENAKS B = HEE

KB %l 11:25 11:10 10:32 10:27 10:12
BEX mS/m 220 53 4 4 13
p H - 7.6 7.6 7.6 7.5 7.6
BOD mg/| 18 <3 <3 - -
COD mg/| 72 1 1 - -
AR L mg/| - - - - _
Ty mg/| - - - - _
Ei) mg/| - - - - _
N0 L mg/| - - - - _
it% mg/| - - - _ _
oK ER mg/| - -~ - - _
T ILFILIKER mg/| - - - - -
PCB mg/| - - - - -
pJyOOIFLY mg/| - - - - _
Th790RIFLY mg/| - - - - _
Y hapray mg/| - - - - _
Mg 181k ik %R mg/| - - - _ _
1,2-¥"yonIay mg/| - - _ _ _
1,1-Y"JAAIFLY mg/| - - - - _
YA-1,2-"9001FLY | mg/l - - - - _
1,1,1-k)9)0R14Y mg/| - - - - _
1,1,2-+)90R14Y mg/| - - - - _
1,3-9°9/0a7°0A"y mg/| - - - - _
Fo5 L mg/| - - - _ _
IV mg/| - - - - _
FARUAIILT mg/| - - - - _
vty mg/| - - - - _
LY mg/| - - - - -
BRAA mg/| 320 59 5 - _




H24.7.19 %K

EX54 RF R RF RTF RTF

R oK = B E T 200m T HENES KT HE IS T BIZHEE

R K EF %l 11:00 11:05 10:30 10:25 10:05
BEFE mS/m 230 65 5 4 12
p H - 8.0 7.9 7.4 7.4 7.6
BOD mg/| 58 4 <3 - -
COD mg/| 75 12 2 - -
AR L mg/| < 0.001 < 0.001 < 0.001 - -
T mg/| n.d. n.d. n.d. - -
£ mg/| < 0.005 < 0.005 < 0.005 - -
o0 L mg/| < 0.02 < 0.02 < 0.02 - -
= mg/| < 0.005 < 0.005 0.014 - -
KR mg/| < 0.0005 < 0.0005 < 0.0005 - -
TILEXILIKER mg/| n.d. n.d. n.d. - -
PCB mg/| n.d. n.d. n.d. - -
M)YROIFLY mg/| < 0.001 < 0.002 < 0.002 - -
Fh3H00IFLY mg/| < 0.0005 < 0.0005 < 0.0005 - -
Y hooray mg/| < 0.02 < 0.02 < 0.02 - -
M\ 18 1k ik R mg/| < 0.0002 < 0.002 < 0.002 - -
1,2-Y°9nA14y mg/| < 0.004 < 0.004 < 0.004 - -
1,1-Y"honIFLy mg/| < 0.02 < 0.02 < 0.02 - -
YA-1,2-"9AAIFLY | mg/I < 0.04 < 0.04 < 0.04 - -
1,1,1-b)y0nz4y mg/| < 0.0005 < 0.001 < 0.001 - -
1,1,2-p)4RAI4Y mg/| < 0.006 < 0.006 < 0.006 - -
1,3-Y"4007°aA°"y mg/| < 0.002 < 0.002 < 0.002 - -
Fro5 LA mg/| < 0.0006 < 0.0006 < 0.0006 - -
ROy mg/| < 0.0003 < 0.0003 < 0.0003 - -
FARUHIILT mg/| < 0.0003 < 0.0003 < 0.0003 - -
S D mg/| < 0.01 < 0.01 < 0.01 - -
LV mg/| < 0.002 < 0.002 < 0.002 - -
BRAF mg/| 330 89 17 - -




H24.10.10 &K

EX54 T ®TF RTF RTF T

oK = L Rivi E T 200m HENARFH | HENAKS B = HEE

£ K B5 % 11:25 11:10 10:35 10:25 10:15
BEX mS/m 200 63 5 4 17
p H - 7.8 7.4 1.7 7.4 7.4
BOD mg/| 38 <3 <3 - -
COD mg/| 65 13 1 - -
AR L mg/| - - - - _
Ty mg/| - - - - _
Ei) mg/| - - - - _
N0 L mg/| - - - - _
fitt= mg/| - - - _ _
Ik ER mg/| - - - - -
TILFILIKER mg/| - - - - _
PCB mg/| - - - - -
pJyOOIFLY mg/| - - - - _
Th790A1IFLY mg/| - - - - _
Y hapray mg/| - - - - _
Mg 181k ik %R mg/| - - - _ _
1,2-¥"yonIay mg/| - - _ _ _
1,1-Y"JAAIFLY mg/| - - - - _
YA-1,2-"9001FLY | mg/l - - - - _
1,1,1-k)9)0R14Y mg/| - - - - _
1,1,2-F)90AI4Y mg/| - - - - _
1,3-9°9/0a7°0A"y mg/| - - - - _
Foo5L mg/| - - - - _
IV mg/| - - - - _
FARUAIILT mg/| - - - - _
vty mg/| - - - - _
LY mg/| - - - - -
BRAA mg/| 280 94 17 - _




H25.2.20 $£ 7K

EX54 RF R RF RTF RTF

R oK = B f E T 200m T HENES KT HE IS T BIZHEE

£ K B % XA XA 10:33 10:30 10:12
BEFE mS/m - - 4 4 24
p H - - - 6.9 7.0 7.3
BOD mg/| - - <3 - -
COD mg/| - - 1 - -
AR L mg/| - - < 0.001 - -
T mg/| - - n.d. - -
Ei mg/| - - < 0.005 - -
X fikrAn N mg/| - - < 0.02 - -
= mg/| - - < 0.005 - -
KR mg/| - - < 0.0005 - -
TILEXILIKER mg/| - - n.d. - -
PCB mg/| - - n.d. - -
M)YROIFLY mg/| - - < 0.002 - -
Th34900IFLY mg/| - - < 0.0005 - -
Y hooray mg/| - - < 0.02 - -
mig 1t ik & mg/| - - < 0.002 - -
1,2-Y°9nA14y mg/| - - < 0.004 - -
1,1-¥"9pnIFLy mg/| - - < 0.02 - -
YA-1,2-9"90A1IFLY | mg/I - - < 0.04 - -
1,1,1-k)900I4y mg/| - - < 0.001 - -
1,1,2-k)90014Y mg/| - - < 0.006 - -
1,3-¥"9OE7°aA"y mg/| - - < 0.002 - -
FoS L mg/| - - < 0.006 - -
IV mg/| - - < 0.003 - -
FAR AT mg/| - - < 0.02 - -
Ro+Ey mg/| - - < 0.01 - -
LY mg/| - - < 0.002 - -
BRAF mg/| - - 12 - -




